TarA 2YT3Y4iUA mvusy as+03y BC3TARC -CYA 23Y3TA _ TaUshA -
0°A UC3T4afA (\=3%3n 1A3041)
79571100-1 | +48W3ICY 3630U3Y 1363(45AlasYY»h “A=2p LASU 456,000.0 1.0 456.0
“3ACYN 10 | E&dUp N 09 _38N01 | eAOCEST3Y A3 waSYatAlasy (S 136»ACY 4a3wT=3V40) 422,088.6
1. TaRTS1CA GRESYAIAISY, &»ST3Y T3¢3T3i03Y N3VAS&»T3T3Y ~ wSi3Iu3(CY 13631310y 422,088.6
USAUCYY»AC &3N&=3Vail
@g2e1.2882U0g0°8 94,726.9
09132100-1 | p»Y%GY, &fi»UCasU bD ECh 460.0 22,800.0 10,488.0
09132200-1 | p»Y%GY, é» - &dti=A bD ECh 445.0 52,245.0 23,249.0
18141100-1 | SRE3T3YU3ICY 0»éYaoY»h bD N=7 650.0 100.0 65.0
19211100-1 | 8CYA»WCT TWaAY»A 2] N=n 700.0 69.0 48.3
24911200-1 | 84&CYO0, (Uatec= bD Tcta-AsU 1,700.0 6.0 10.2
30121310-1 | -A=3&»YIST3CY U»U»Y3Y»AC USé»h bD N=n 1,000.0 40.0 40.0
A3fi=-3V»f
30121310-2 | -A3&»YIST3CY U»U»Y3Y»AC USé»h bD N=n 1,400.0 30.0 42.0
A3fi=3-3V»f
30121460-1 | WAY»A3CY USAWACCY»A bD N=7 300,000.0 1.0 300.0
30121460-2 | WAY»A3CY USAWACCY»A bD N=7 55,000.0 39.0 2,145.0
30121460-3 | WAY»A3(CY USAWACCY»A bD N=n 90,000.0 1.0 90.0
30121460-4 | WAY»A3CY USAWACCY»A bD N=7 70,000.0 45.0 3,150.0
30121460-5 | WAY»A3(CY USAWACCY»A bD N=n 40,000.0 60.0 2,400.0
30121460-6 | WAY»A3(CY USAWACCY»A bD N=7 70,000.0 30.0 2,100.0
30121460-7 | WAY»A3CY USAWACCY»A bD N=T 40,000.0 39.0 1,560.0
30121460-8 | WAY»A3(CY USAWACCY»A bD N=n 165,000.0 34.0 5,610.0
30121470-1 | WAY»A E3¥»A3ICY bD N=n 16,000.0 5.0 80.0
TACAY»AC/N»ESAZTx»Y3N3Y40
U»U»Y3Y»AC N3U3h
30121470-2 | WAY»A E3¥»A3ICY bD N=n 16,000.0 100.0 1,600.0
TACAY»AC/N»ESAZTx»Y3N3Y40
U»U»Y3Y»AC N3U3h
30121470-3 | WAY»A E3¥»A3ICY bD N=n 2,000.0 120.0 240.0
TACAY»AC/N»ESAZTx»Y3N3Y40
U»U»Y3Y»AC N3U3h
30121470-4 | WAY»A E3U»ASICY bD N=n 6,000.0 2.0 12.0
TACAY»AC/N»ESAZTx»Y3N3Y40
U»U»Y3Y»AC N3U3h
30121470-5 | WAY»A E3U»A3ICY bD N=n 7,000.0 50.0 350.0
TACAY»AC/N»ESAZTx»Y3N3Y40
U»U»Y3Y»AC N3U3h
30121470-6 | WAY»A E3¥»ASICY bD N=n 8,000.0 2.0 16.0
TACAY»AC/N»ESAZTx»Y3N3Y40
U»U»Y3Y»AC N3U3h
30121470-7 | WaY»fi E3Y»i3(CY S 2] N= 2,500.0 120.0 300.0
TACAY»AC/N»ESA3Tx»Y3N3Y40
U»U»Y3Y»AC N3U3h
30121470-8 | WaY»fi E3Y»i3(CY o 2] N=w 15,000.0 60.0 900.0
TACAY»AC/N»E3A3Tx»Y3N3Y40
U»U»Y3Y»AC N3U3h
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30121470-9 | WaY»fi E3»i3(CY o bD N=7 1,600.0 120.0 192.0

WACAY»IC/N»63a3Tx»Y3=3Y40

U»U»Y3Y»A¢ NBU3A
30121480-1 | tae3 A3 x»Y3N3YA0 63AU»AC TAY»f bD N=n 12,000.0 5.0 60.0
30141200-1 | NSRiI3&3f0, - A=e»YIST3ICY bD N=7 2,100.0 150.0 315.0
30192100-1 | é»WCY N3&3A=3T bD N=T 30.0 625.0 18.8
30192121-1 |-fiC4 - YACTS3Ta4f 25) N=r 50.0 4,150.0 207.5
30192128-1 | -fiCa - »E3(CY bD N=T 150.0 200.0 30.0
30192137-1 | USWCT, -A3yCw» UCcadilar, N=2e3a3T bD N=n 26.0 3,330.0 86.6
30192151-1 | TYCu, ST wal=T, a00=Y1lasy bD N=n 2,650.0 4.0 10.6
30192152-1 | TYCu, ST wal=3T, 1tan bD N=T 16,000.0 2.0 32.0
30192154-1 | TYCUG EA=6406Ca p=AOCTY»A bD N=T 32.0 20.0 0.6
30192154-2 | TYCUG EAS6406Ca p=A0CTY»A bD N=n 300.0 20.0 6.0
30192160-1 | RWACEY»f bb N=r 240.0 600.0 144.0
30192210-1 | &AEGU»ASICY CYUYSTAEAY AS&=T»Y, bD N=n 400.0 20.0 8.0

480Ux100U WY T »&3T3Y, U»
30192710-1 |84&YO3U3TCT, -AZé»YI=ST3(cY bD N=n 169.0 200.0 338
30192720-1 | - I=3YRCA bD N=7 140.0 600.0 84.0
30192760-1 | &fiC4, eATARST3Y bb N=r 60.0 125.0 75
30196200-1 | i3Y1CA46UY»AC YAAS I »WTinA T3U bD N=n 1,400.0 155.0 217.0

1ASY6 ER=0400Ca A»AA»H
30197112-1 | T3ACAC U»r303t3fi» 138»A, UCCCY bD A+ 90.0 1,500.0 135.0
30197231-1 | AOA=&3V=T, 4fCU»ASICY A=S03YA, y3iE bD N=7 10.0 32,900.0 329.0
30197232-1 | ADA=&=Y=T, 3ii=-313h, ACAI= 2] N=w 45.0 45,000.0 2,025.0
30197233-1 | ADA=&=3Y=T, A»ar, AOAI= bb N=w 55.0 5,813.0 319.7
30197234-1 | ADA=&=3Y=T, Takw T3%UaT bb N=w 760.0 997.0 757.7
30197321-1 | T3fic4, UCYA™ 20 A»AAC N3U=3f bD N=n 540.0 350.0 189.0
30197322-1 | T3fiC4, 20-50 A»AAC N3U=f bD N=7 1,560.0 31.0 48.4
30197331-1 | 13713, u3Yavar bD N=n 600.0 200.0 120.0
30197331-2 | 1373, u3Yavar bD N=7 1,500.0 50.0 75.0
30197340-1 | 3&3T3ACA 25) N=r 160.0 36.0 5.8
30197631-1 | A4i0A, A4 yaRU=TC1 /21x29.7/ bD A+ 2,130.0 10,370.0 22,088.1
30199231-1 |Y=2U=3TC IA3A, A5 0 343+C bD N=T 18.0 12,000.0 216.0
30199231-2 |Y=3U=3TC IA3A, A5 0 "343+C bD N=T 9.0 10,000.0 90.0
30199232-1 | 1A3A, U»T, A4 07353+C N3U=A bD N=T 35.0 4,020.0 140.7
30199420-1 | A4i0A YR&SUY»AC N3U3A, 8a8YOT3ToaT bD A+ 240.0 500.0 120.0
30199430-1 | A4i0A YRASUY»AC, WAGSTY»RAT bD A+ 140.0 500.0 70.0
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30232230-1 | 30313 -43(0Y WilStY»i¢ &3N&a3YU3Y bD N=n 37,500.0 20.0 750.0
UC3tanY»n
30234300-1 | 13 3AT 1373631, 363Y6 1ai=+-C, CD 25) N=r 100.0 1,000.0 100.0
30234400-1 | 130 3AT 1373631, 3é3Y6 146+-C, DVD 25) A= 150.0 1,100.0 165.0
30234500-1 | NCR&OASAIAGY-TACAY»R bD N=n 52,500.0 10.0 525.0
30234650-1 | yE»R NCRAOAGAIATY, 32GB bD N=7 8,500.0 15.0 1275
30236110-1 | 0&»A=wCT NCRAOAGAIATY (ram) bD N=T 11,000.0 18.0 198.0
30237111-1 |&Yas0U=3Y U3AwTas 2] N= 61,537.5 32.0 1,969.2
30237111-2 |&Ya0U=3Y U3AwTas 2] N=w 7,500.0 92.0 690.0
30237112-1 |&éYadou3Y peal bD N=7 13,500.0 20.0 270.0
30237113-1 |TaY»Twan (T6anR1Y»f) bD N=T 50.0 500.0 25.0
30237135-1 | 63Y63ICY UCe»fA»EC USAI»f bD N=7 8,000.0 15.0 120.0
30237411-1 |UTYCT, N3U=T=3/-43(CY, E3hai bD N=n 1,560.0 50.0 78.0
30237470-1 | €W»0Y3R3A, 6 W3YI3AT, 104 Tax3Tar bb N=w 2,600.0 28.0 72.8
31211180-1 | 3T WaU3T 3Y¢3WCaY»h bD N=7 2,156.0 16.0 345
31221200-1 | ERAGY»AC »03YCTY»f  T3ALTSTY»h bD N=n 500.0 54.0 27.0
31221200-2 | EAAGY»AC »03YCTY»f ™ T3ALTSTY»h bD N=7 800.0 20.0 16.0
31441000-1 | UBAWT40, AAA T»E31C bb N=r 780.0 400.0 312.0
31442100-1 |Ta6w=3TG4 USAWTaoY»h bb N=w 26,000.0 12.0 312.0
31442100-2 | Ta5w=3TC4 USAWTaoY»h bb N=w 30,000.0 1.0 30.0
31442100-3 | Ta5w=3TG4 USAWTaoY»h 2] N=w 30,000.0 2.0 60.0
31521150-1 | H&ASTCA (E>THASTSY 308 pD N3 300.0 192.0 57.6
31531210-1 | (E»TWAST3Y =308, 60W, 80W, 100W pD N3 120.0 1,300.0 156.0
31531500-1 | 6»fA»T3(CY E=30& 606U bD N=T 480.0 200.0 96.0
31531600-1 | 6»fA»T3{CY E30U& 12080 bD N=n 530.0 410.0 217.3
31684100-1 | T3AL3T »AT »E3YC 25) N=r 300.0 30.0 9.0
31685000-1 | (E»THAST3Y »AT3AZ6U3Y £3A pD N3 2,202.0 50.0 110.1
31686000-1 | Efid6 earans3T3Y 25) N=r 300.0 26.0 7.8
33761000-1 |%a0- 3ASYC A4i0A, éadtaYar bD N=n 120.0 2,305.0 276.6
34351200-1 | 3T WAU»U»Y3Y»AC SYCTY»f bD N=n 18,000.0 8.0 144.0
34351200-2 | 3T WAU»U»Y3Y»AC SYCTY»f bD N=n 52,570.0 16.0 841.1
34351200-3 | 3T WAU»U»Y3Y»AC SYCTY»f bD N=n 52,570.0 4.0 210.3
34351200-4 | ST WAU»U»Y3Y»AC SYCTY»f bD N=n 50,000.0 2.0 100.0
39221480-1 | %a&i-SA3YC Ea%3Y3TY»A bD N=n 2,000.0 30.0 60.0
39224330-1 | Ladl»i 2] N=w 800.0 19.0 15.2
39224341-1 | 30p=3Al0, &f=ewU=é» bD N=n 600.0 50.0 30.0
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39224342-1 | 30p=Al0, U»30i= bD N=T 1,100.0 53.0 58.3
39263100-1 | -AS&»YISTIICY (=T340 bD N=T 20,000.0 6.0 120.0
39263200-1 | -i=&»YISTS(CY -G, USWI3Y, 70-200.¢, bD N=n 800.0 176.0 140.8
Tal3YC, 6ACT3T jorhal
39263310-1 | (A=064dl6, é»03YC bD N=n 800.0 71.0 56.8
39263410-1 | 3U0iA=T, U» =303, —aui bb wa+ 104.0 450.0 46.8
39263420-1 | 3UiA=T, U» =202, U»T bb wa+ 290.0 700.0 203.0
39263530-1 | é»00=3T, U»T 2] wa+ 40.0 400.0 16.0
39292510-1 |U3YAY, &r36wCT bD N=n 52.0 300.0 15.6
39513200-1 | AOA» 3Y0»€aoCT, »ATR»AT bD N=7 250.0 240.0 60.0
39811300-1 | NAW3%»AlCa, 02C bD N=T 560.0 150.0 84.0
39812100-1 | N=w=T¢ USICT, 30310 +3E»003Y bD Tcta-AsU 1,150.0 10.0 115
UST»AailAc &=Na3YU3Y i30=h
30831241-1 | (x3é, 0»&UC bb N=r 170.0 1,050.0 178.5
39831242-1 | ET360C <aBC O»éuat ET3Y3tas N3U3h bD TCta-AsU 554.6 265.0 147.0
39831242-2 | ETI360C <aBC O»éuat ET3Y3tas N3U3h bD TCta-AsU 650.0 109.5 71.2
39831242-3 | ETI360C +aBC O»éuat ET3Y3tas N3U3h bD TCta-AsU 770.0 145.0 111.7
30831245-1 | 0x3é, N»0asT bb N= 1,555.0 20.0 311
39831247-1 |SEW3N3Ya0 N»0801" 63YRSY - 45l6C bD N=n 770.0 134.0 103.2
N=0=h (E3YiasA)
39831274-1 | (TASYC USUAUSY YiasA»f pD N3 1,500.0 100.0 150.0
39836000-1 | 31»f, 8aTan=3T3Y 2] N=w 1,400.0 120.0 168.0
39838000-1 | 3i»f -4-3AC3TC N»n, &E36WUS6» bD N=T 2,381.0 50.0 119.1
41111100-1 | AU&»E4d cad “A=2p LA3U 512,000.0 1.0 512.0
44322100-1 | USt&E N3UST=A-4C, UTP cable 6 level bD U»h 250.0 2,400.0 600.0
44322230-1 | UStaE &0Y0» cO»hat, YSE3T»ei31 bD U»h 300.0 200.0 60.0
Y»AUCY UAY r3AU=Y (30=h 4002
44411710-1 | 63YN3Y-&0l6C YE 3 1»0»ii bD N=7 3,400.0 10.0 34.0
44482300-1 | TATUSACA bb N=r 20,000.0 16.0 320.0
44521170-1 | Tab&»uY»fi bb N=w 2,206.0 30.0 66.2
44521170-2 | Tab&»uY»fi bb N=w 5,100.0 10.0 51.0
@=2é Il. 2pE2T2UgU°s 7,098.0
45461100-1 |B»YU»fiG, BCYADAIAGYY»AC AYA=GCT aA LAS3U 7,098,000.0 1.0 7,098.0
YaRa-U3Y SRE3T3YUY»f
@=2é lll. 12&20asAlasuues 320,263.7
50111130-1 | STWAU»U»Y3Y»iC T»A=Yana- U3y bD LA3U 4,422,000.0 1.0 4,422.0
=363(a0AlasYY»ii
50111130-2 | ST TAU»U»Y3Y»AC T»fi=Yafa-U3Y bD =0 4,400,000.0 1.0 4,400.0

1=é3{40AlagYY»h
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50111130-3 | ST TAU»U»Y3Y»AC T»A3Yaf4-U3Y bD LA3U 4,012,600.0 1.0 4,012.6
1363(a0AlasyY»h
50111180-1 | STWAU»U»Y3Y»AC ETS603Y bD LASU 480,000.0 1.0 480.0
YUSYSTCA 1363(40A1a0Y Y »fi
50311250-1 | &3 Tx»Y3N3Y40 63fu»i¢ &3Na3YUsY “A=2p LASU 600,000.0 1.0 600.0
1363(abAlasyY»h
50531140-1 |+af03uYYasAl3Y 1=3é3a0Al4asYY»f “A=2p LASU 500,000.0 1.0 500.0
50531200-1 | (TWASTIY é3AU»AC, 3AU=TaRaiUY»ic bD LA3U 900,000.0 1.0 900.0
»fi3YafAa- U3y = &3Na3YUsy
1363{abAlasyY»h
50531200-2 | (> TWAST3Y 63AU»AC, E3AU3TanaUY»AC | “A=D LA3U 3,259,800.0 1.0 3,259.8
»fi3YafAa- U3y = &3Na3YUsy
1363(a0AlasyY»h
60111100-1 | AV2=Yadhi YRSYSTAAISY ) “A=2p LA3U 1,000,000.0 1.0 1,000.0
27 1alauCE=3ICY ~4E31A3UCcA0Y»AC
1363(a0AlasyY»h
64121400-1 | Y»fi0CY +aéwsicy - bD LASU 93,000.0 1.0 93.0
8a0ANSYL3T3(CY I363]a0Ala0YY»h
64211100-1 | N3YAS3(CY N»63E483ICY 1363(a0AlasYY»fh “A=2p LA3U 18,000,000.0 1.0 18,000.0
64211100-2 | N3YAS3(CY N»63E483ICY 1363(a0AIa5YY»f “A=2p LASU 6,129,479.3 1.0 6,129.5
64211130-1 | ucc3ICY N»63E4eY»AC 1=263(40Ala5YY»h “A=2p LA3U 2,700,000.0 1.0 2,700.0
64211340-1 | (E>THAAYSICY 10> T3 T TST3Y bD LAS3U 324,000.0 1.0 324.0
1363(abAlasYY»h
65111100-1 | EUx»tad fiC p=RE&dU “A=2p LASU 872,200.0 1.0 872.2
65211100-1 | -3%C u=RE4HU “A=2p LASU 22,480,571.5 1.0 22,480.6
65311100-1 | (B>THASTSYAAISY p=REAGU “A=2p LA3U 92,676,492.9 1.0 92,676.5
66511170-1 | ~4E31A30Cca0Y»AC N»w T3&T31 “A=2p LAS3U 1,640,000.0 1.0 1,640.0
2330a13 - AST3Y 1263(a0AlasVY»h
70221100-1 | &4 pY3T»EC 3YR3AA - &dluC “A=2p LA3U 69,430,100.0 1.0 69,430.1
3A03T3tAAIBY T3U ECUCY - ¢
1363(a0AlasyY»h
72212232-1 | N3UST3i-C 1363 T3A03Y o “A=2p LA3U 680,000.0 1.0 680.0
N=U3T30-230CY T7=-ASICY +3A»AY»AC
UBSTUSY 1=363(40AlaYY»f
72411100-1 | N3US63Y63(CY 1=363a0Al40YY»fi bD LA3U 5,400,000.0 1.0 5,400.0
U3r4564a0Y»f (isp)
72411300-1 | N=U363Y63(CY (www) ¢¢C 03 Tanu=3y bD LA3U 960,000.0 1.0 960.0
1363(a0AlasyY»h
72411700-1 | TAU»Y3(CY 3Yi3YaiUY»h “A=2p LASU 12,000.0 1.0 12.0
72411700-2 | TAU»Y3(CY 3Yi3YaiUY»h “A=2p LASU 24,000.0 1.0 24.0
72711100-1 | W»0»T3WTST3Y 63Y6¢ »031AU3Y, “A=2p LA3U 600,000.0 1.0 600.0
8A=363ATU3Y ~ N3BUST=3A-43ICY 63Y6C
T364060=3Y 1=63(40Ala0YY»f
76131100-1 | -3%38436U3Y N=U3T3h-C “A=2p =0 1,000,000.0 1.0 1,000.0

THEYCTST3Y 68363A1U3Y
1363(a0AlasyY»h
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79131100-1 | CAST3T3Y +38W3A0A»AC N> TSAT31 “A=2p LA3U 510,000.0 1.0 510.0
1363(a0Alasy Y »h
79411170-1 | N=63a3TaAIRY N» o T2&»AC “A=2p LASU 700,000.0 1.0 700.0
1363(abAlasyY»h
79571100-1 | +48W3ICY 3630U3Y 1363(a5AlasYY»fh “A=2p LAS3U 11,000,000.0 1.0 11,000.0
79821170-1 | T&3-A3T3Y ~ 3é63uU3Y bD LA3U 4,945,400.0 1.0 4,945.4
1363(a0AlasyY»h
79981100-1 | uSA=3Van1=-Al3Y 1=63(4AIa5VY»h “A=2p LASU 1,000,000.0 1.0 1,000.0
90921100-1 | SEW3N3YU3Y " UST3padllY»AC “A=2p LAS3U 154,300.0 1.0 154.3
48YE36U3Y 1263(40AlasYY»h
92211100-1 | é31CA3AT31ASYUC N» o TSAT3IT 2] _A3U 316,000.0 1.0 316.0
1363(a0AlasyY»h
92221100-1 | N»€aie w3 U»E3ICY SATS1A3YIC Ny 2] _A3U 1,860,000.0 1.0 1,860.0
T3AT31 136380Al46YY»h
92421100-1 |A»fiA»fiail NSa3A=hAasAlasyY»fAc “A=2p LAS3U 400,000.0 1.0 400.0
TAS-AUSY 1=3¢3a0AlasY
92511110-1 | SAECT3(CY 13é63(asAlasYY»fi bD LASU 34,600,000.0 1.0 34,600.0
92511110-2 | SAECT3(CY 13é63(asAlasYY»fi bD LASU 7,840,800.0 1.0 7,840.8
98341140-1 | R»YUC A3NA&3YU3Y 1363(a5AlasYY»fh aA LA3U 13,341,000.0 1.0 13,341.0
98391180-1 |e&=6éa0Y»ACY US3rasoial 3k bD LA3U 700,000.0 1.0 700.0
1363(abAlasYY»h
98391190-1 |V»ATAS(36400a313Y 1363[a0AlasYY»AC bD LA3U 300,000.0 1.0 300.0
N» o T3AT31 I3Eé»i
“3ACYN 10 | E&dUp N 09 LBEN02 | 840C3EST3Y 43R W ASVAIAISYA WA=U311T40 0ASY1ST 3,082,853.9
12¢63[a0AIa5YY»1i (S 136»ACY 4831 T3Y40)
| | | |
1. &l 731 (> USNa0 DS(SEw3YC 3. 3(CY I»Aaey»fi¢ = @3ATST3Y E3E fuSYR3Yal 43h-"3wiAT=1 3Y0¢ 1,542.0
AYTSYCUC 3Y13UY»ACY WATA0 &3-S Tx3AC Ix3AU3Y N> TSAT3T 1363lasAlasYY»f
@=2é lll. 12&20a0Alasuu°s 1,542.0
79571100-1 | +48W3ICY 3630U3Y 1363(45AlasYY»h “A=2p LASU 1,542,000.0 1.0 1,542.0
2. T»Y&3AaRST3405Y»MC N3RTSEUSY UCSEYSTSY Wr0» T3 T3T3Y NSUSTS0- G 64363AIUSY 42,000.0
1363(abAlasyY»h
@=2é lll. 12&20a0Alasuues 42,000.0
72261160-1 | 1A=-AS3ICY &3NaTU3Y 64363A1U3Y “A=2p LA3U 42,000,000.0 1.0 42,000.0
1363(abAlasyY»h
3. @46C3E3T3Y 2a3NaTa0AIBY &» 3T3Y 1363(aAIBY TH»O»T3TTST3Y Y»AuCY A4 w3EC eA363iT4U 18,240.0
@=2é lll. 12&20a0Alasuu°s 18,240.0
72261160-1 | 1A=-A3ICY =&3NaiU3Y 64363A/1U3Y “A=2p LA3U 18,240,000.0 1.0 18,240.0
1363(abAlasyY»h
4. GCYE™ 2 W3 T3Y »A»E3(C EY3UUC YAZEWC 1x3AU3Y b T3AT31 1363(a0Ala0YY»h 28,080.0
@=2é lll. 12&20asAlasuues 28,080.0
79571100-1 | +48W3ICY 3630U3Y 1363(45AlasYY»h “A=2p LASU 28,080,000.0 1.0 28,080.0
5. Of»E3(C TYYL3Y UC3YT=- YA3EWC ix3AU3Y N»w T3AT31 13¢3[a0AlaYY»fi 54,649.5
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TarA 2YT3Y4iUA mvusy as+03y BC3TARC -CYA 23Y3TA _ TaUshA -
oA UC=TanA (\=%=h 1ASVAT)
@=2é lll. 12&20asAlasuues 54,649.5
79571100-1 | +48W3ICY 3630U3Y 1363(45AlasYY»fh “A=2p LASU 54,649,500.0 1.0 54,649.5
6. T»Y&3AAR3TC YRSYSTUSY ~ Ix3AU3Y N30=3h SYNASASRT 0 SA0ASAC 1A= - AddAlasy 2,000.0
@=2é lll. 12&20asAlasuues 2,000.0
79821170-1 | WAS-AST3Y " 3é30U3Y bD LA3U 2,000,000.0 1.0 2,000.0
=363(a0AlasYY»ii
7. ASU3Y3T3ian SYSRE3TAYSTAAISY A»AACTY»AC WA= - AadAlasY 21,600.0
@=2é lll. 12&20asAlasuues 21,600.0
79821170-1 | WAS-AST3Y " 3é30U3Y 2] N 21,600,000.0 1.0 21,600.0
=363(a0AlasyY»ii
8. T»Y&3AaRST3(CY 343laraAl3Y, I»fasAl=Y, i=pU=Y130a0A1Y, T»nSTRA0CY TaroY»tas 1»auasl B 2,816,296.3
8A0CSEST3Y YASEWY»AC, &3 -"STx3AAV»AC, AW TATX3V»C 3 A= -fixfi¢ Tx3AU3Y W 134731
=363(a0AlasYY»ii
@=2é lll. 12&20asAlasuues 2,816,296.3
66111200-1 |p3YT3(CY 1363(a0Al40YY»M “A=2p LA3U 211,274,980.0 1.0 211,275.0
79571100-1 | +48W3ICY 3630U3Y 1363(45AlasYY»h “A=2p LA3U 2,605,021,300.0 1.0 2,605,021.3
9. %iCYTan3T3Y T»YeSAMRITE4V»AAC W0» T3 T3T3Y (303130 ¢ V»A1Al3Y, 13A03Y, 643e3A103Y - 7,000.0
O T3 TAAIRY TH3U31AU3Y 1363(a0A1a5YV»f
@=2é lll. 12&20asAlasuues 7,000.0
72261160-1 | TA=-A3ICY 343NATUSY 64363A1USY “A=2p LASU 7,000,000.0 1.0 7,000.0
=363(a0AlasYY»ii
10. T»Y&3AaR=3T3(CY N=0U=3T3h-C N3YASICY CASYL»TUSY SRE3T3YOY»A 53,448.0
@=2é lll. 12&20asAlasuues 53,448.0
64211340-1 | (>TWAAYSICY WO T3TT3T3Y “A=2p LA3U 53,448,000.0 1.0 53,448.0
1=363(a0AlasYY»ii
11. a3RE=71a0 3YOCY USIRasAl=3Y Ya3ewC ix3AU3Y N> T2&T31 1363(40AlaiYY»h 37,998.1
@=2é lll. 12&20asAlasuues 37,998.1
79571100-1 | +48W3ICY 3630U3Y 1363(45AlasYY»h “A=2p LA3U 37,998,100.0 1.0 37,998.1
DD 3%- 3[CY 1Cx3T=3-A313Y 13é63asAlasy 178,800.1
“3ACYNO1 | E&dUpN 03 U36N02 | TAS-AUSY T~ ICx3T3-AST3Y AYIN3Yadh 1363(40AlasYY»h 161,480.7
1. TART=1CA CRE3VAIAISY, &» W ST3Y 13¢3T3i03Y (3YAs&y 3TV " wSisIus(ey 13¢3 1303y 93,148.9
USAUGYY»AC a=Na=vasl
7261.24820g0°8 32,952.3
09132200-1 | p»Y¥%CY, é» - &6EI=A bD ECh 420.0 34,520.0 14,498.4
09211100-1 | R3AACAC [450»h “A=2p ECh 1,400.0 165.0 231.0
18311190-1 | E3E=3AY»ii “A=2p N=w 7,500.0 4.0 30.0
18421130-1 | O»&YadY»ii “A=2p N=w 500.0 15.0 7.5
19721200-1 | u=A0A SURAGAISY A»E»f “A=2p N=n 500.0 5.0 25
22211400-1 | &3Ap»AST3Y NASA3ASTAIUY»A “A=2p 1430 181,000.0 1.0 181.0
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